
1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)152881 (B)144169 (C)142881 (D)160000 (E)None of these

What value should come in the place of question mark(?)in the following questions.

√? =  (153 × 46 ) ÷ 18 = ?
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(A)3870 (B) 4970 (C)4550 (D)4270 (E)None of these

What value should come in the place of question mark(?)in the following questions.

(3834  ÷ 27) × (3920 ÷ 112 ) = ?
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(A) 89.88 (B)87.88 (C)91.88 (D)95.88 (E)None of these

What value should come in the place of question mark(?)in the following questions.

2.8% of 1220 + 7.4% of 780 = ?
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(A) 1100 (B)1200 (C) 800 (D)1500 (E)1300

What value should come in the place of question mark(?)in the following questions.

0.6 × 2.8 × 35 ÷ 0.0049 = ?
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(A)24 (B) 32 (C) 48 (D)40 (E)36

What value should come in the place of question mark(?)in the following questions.

30% of √15625  + 70% of ³√ 3375= ?
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What should come at place of the question mark (?) in the following number series ?

21 . 244 , 605 , 861 , 1030 , ? , 1079

(A)1140 (B)1136 (C)1130 (D) 1142 (E)1138
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What should come at place of the question mark (?) in the following number series ?

22 . 80 , ? , 144 , 420 , 1664 , 8300

(A) 90 (B)96 (C)84 (D)86 (E)76
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What should come at place of the question mark (?) in the following number series ?

23 . 45 , 60 , 79 , 106 , 145 , ?

(A)200 (B)195 (C) 190 (D)215 (E)210
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What should come at place of the question mark (?) in the following number series ?

24 . 420 , 105 , ? , 52.5 , 105 , 420

(A)26.25 (B)52.5 (C) 42 (D)84 (E)64
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What should come at place of the question mark (?) in the following number series ?

25 . 112 , 120 , 111 , ? , 150 , 366

(A)170 (B)160 (C)175 (D)165 (E)178

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Directions (Q. 6-10):- Direction for Question

Study the pie chart carefully and answer the given questions. Pie- chart showing

percentagewise distribution of students in four different classes of a school (9th, 10th, 

11th, and 12th). Table shows ratio between boys and girls which are distributed among 

four different classes in school. पाई चार्ट का ध्यानपूर्टक अध्ययन करें और दिए गए प्रश्न ों के

उत्तर िें। पाई-चार्ट दिखा रहा है एक सू्कल की चार अलग-अलग कक्षाओों (9र्ी ों, 10र्ी ों, 11र्ी ों

और 12र्ी ों) में छात्न ों का प्रदिशिर्ार दर्िरण। िादलका लड़कनोंऔर लड़दकयन ों के बीच अनुपाि

दिखािी है जन सू्कल में चार अलग-अलग कक्षाओों में दर्िररि की जािी है।

14%

28%

32%

26%

Total students = 1400

9th

10th

11th

12th

Class Boys Girls

9th 3 4

10th 5 9

11th 5 3

12th 1 1
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(A)150 (B)90 (C)190 (D)70 (E)None of these

Q.6 :- If 25% of boys in 11th class play cricket, then what is the number of boy in class 11th 
who do not play cricket?
यदि 11र्ी ोंकक्षा में 25% लड़के दिकेर् खेलिे हैं, िन 11र्ी ोंकक्षा में दिकेर् नही ों खेलने र्ाले
लड़कनोंकी सोंख्या दकिनी है?

14%

28%

32%

26%
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9th
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Class Boys Girls

9
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3 4
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(A)100% (B)200% (C)300% (D)125% (E)None of these

Q.7 :- Number of girls in class 11th is what percent more than the number of boys in class 
9th?
11र्ी ोंकक्षा में लड़दकयन ोंकी सोंख्या कक्षा 9र्ी ोंमें लड़कन ोंकी सोंख्या से दकिने प्रदिशि अदिक है?

Class Boys Girls

9
th

3 4

10
th

5 9

11
th

5 3

12
th

1 1
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(A)173.5 (B)179.5 (C)178.5 (D)172.5 (E)None of these

Q.8 :- What is the average number of girls in all the classes?

सभी कक्षाओों में लड़दकयन ोंकीऔसि सोंख्या दकिनी है?
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(A)192 (B)212 (C)216 (D)204 (E)None of these

Q.9 :- What is the difference between the total number of students in 11th and the number 
of girls in 10th?
11र्ी ोंमें छात्न ोंकी कुल सोंख्याऔर 10र्ी ोंमें लड़दकयन ोंकी सोंख्या के बीचका अोंिर दकिना है?
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(A)159 (B)42 (C)56 (D)68 (E)None of these

Q.10 :- What is the difference between the number of boys in 10th and the number of girls 
in 12th?
10र्ी ोंमें लड़कन ोंकी सोंख्याऔर 12र्ी ोंमें लड़दकयन ोंकी सोंख्या के बीच दकिना अोंिर है?
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26%
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(A)189315 (B)389335 (C)489425 (D)289325 (E)None of these

Q.11 :- Shantanu borrowed Rs. 2.5 lakh from a bank to purchase one car. If the rate of 
interest be 6% per annum compounded annually, what payment he will have to make after 
2 years 6 months?शाोंिनु ने एककार खरीिने के दलए एक बैंक से 2.5 लाख रुपये उिार दलए।
यदिब्याजकी िर 6% प्रदि र्र्ट र्ादर्टकरूप से सोंयनदजि हन, िन 2 र्र्ट 6 माह के बाि उसे दकिना
भुगिान करना हनगा?
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(A)16.67% (B)20.66% (C) 20% (D) 30% (E)None of these

Q.12 :- A shopkeeper fixes the marked price of an item 50% above its CP. The percentage of 
discount allowed to gain 20% is
एक िुकानिार दकसी र्सु्त का अोंदकि मूल्यउसके िय मूल्य से 50% अदिक दनिाटररि करिा है।
20% प्राप्तकरने के दलए अनुमि छूर् का प्रदिशि है
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(A)780 (B)820.20 (C) 758.20 (D)850 (E)None of these

Q.13 :- A shopkeeper sold an article at profit of 30%. If both the cost price and selling price 
is lowered by Rs. 100. Then the profit would be 4% more than before. Then find the cost 
price of the article?
एक िुकानिार ने एक र्सु्त कन 30% के लाभ पर बेचा। यदि िय मूल्यऔर दर्िय मूल्य िननन ों कन
रु. 100. िब लाभ पहले की िुलना में 4% अदिक हनगा। िन र्सु्त का िय मूल्य ज्ञाि कीदजये?
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(A)15 (B)18 (C)14 (D)22 (E) None of these

Q.27 :- If three times of the son's age in years is included to the mother's age, the total is 75 
and if two times of the mother's age is included to the son's age, the total is 80. So the son's 
age is?
यदि र्र्ट में पुत् कीआयु का िीन गुना मािा कीआयु में शादमल दकया जािा है, िन कुल 75 हनिा
है और यदि मािा कीआयु का िन गुना पुत् कीआयु में शादमल दकया जािा है, िन कुल 80 हनिा
है। िन पुत् कीआयु है?
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(A)27 (B) 243 (C)9 (D)81 (E) None of these

Q.28 :- 4 matches are to be played in a chess tournament. In how many ways can result be 
decided?
एकशिरोंज रू्नाटमेंर् में 4 मैच खेले जाने हैं। पररणाम दकिने िरीकन ों से िय दकया जा सकिा है?
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(A) 30 (B)31 (C)32 (D)33 (E) 34

Q.29 :- The average weight of 40 Students is 32. If the Heaviest and Lightest are excluded 
the average weight reduces by 1. If only the Heaviest is excluded then the average is 31. 
Then what is the weight of the Lightest?
40 छात्न ोंकाऔसि र्जन 32 है। यदि सबसे भारीऔर सबसे हले्क कन बाहर कर दिया जािा है
िन औसि र्जन 1 से कम हन जािा है। यदि केर्ल सबसे भारी कन बाहर रखा जािा है िन औसि
31 है। िन सबसे हले्क का र्जनक्या है?
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(A)40 (B) 33 (C)25 (D)15 (E) 20

Q.30 :- A chemist has 10L of a solution that is 10% nitric acid by volume. He wants to dilute 
the solution to 4% strength by adding water. How many liters of water must be add?
एक रसायनज्ञ के पास 10 लीर्र घनल है जन मात्ा के दहसाब से 10% नाइदर्िक एदसड है। र्ह पानी
दमलाकर घनल कन 4% िाकि िक पिला करना चाहिा है। दकिने लीर्र पानी डालना चादहए?
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(A)30% (B)40% (C)50% (D) 60% (E)70%

Instead of normal weighing scale a shopkeeper used forged scale. He used 1.4 kg scale while 
buying and 840g scale while selling, what will his overall profit percentage, if in the end he 
offers 10% discount?
सामान्यिौल पैमाने के बजाय एक िुकानिार जाली पैमाने का उपयनगकरिा है। उन्न ोंने खरीििे
समय 1.4 दकलन से्कलका इसे्तमाल दकयाऔर बेचिे समय 840g पैमाने पर, उनका कुललाभ
प्रदिशिक्या हनगा, अगरअोंि में र्ह 10% छूर् प्रिानकरिा है?
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(A)1 : 7 (B) 2: 7 (C)7 : 1 (D) 7 : 2 (E)None of these

There are 3 points P, Q and R in a straight line, such that point Q is equidistant from points 
P and R. A man can swim from point P to R downstream in 24 hours and from Q to P 
upstream in 16 hours. Find the ratio of speed of man in still water to speed of stream?
एकसीिी रेखा में 3 दबोंिु P, Q औरR हैं, इस प्रकार दक दबोंिुQ, दबोंिु P औरR से समान िूरी पर है।
एकआिमी दबोंिु P से R अनुप्रर्ाहकीओर 24 घोंरे् में औरQ से P उर्ध्टप्रर्ाह 16 घोंरे् में िैर सकिा
है। शाोंि जलमें मनुष्यकी गदि िथा िारा की गदिका अनुपाि ज्ञािकीदजए।
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(A)6.5 (B)7.2 (C)4.5 (D)5.2 (E)None of these

Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound 
interest at 20% per annum. She promised to make the payment after three years. But for 
the last year of loan tenure, the company increased the rate of interest by 25% from the 
previous one. Then the extra amount which she had to pay is what per cent of the amount of 
loan taken by her?
दशल्पा ने रुपये काऋण दलया।कारखरीिने के दलए 15,00,000।कों पनी प्रदि र्र्ट 20% पर चिरृ्द्धिब्याजर्सूलिी है।
उसने िीन साल बाि भुगिान करने का र्ािा दकया। लेदकनऋणकायटकाल के अोंदिम र्र्ट के दलए, कों पनी ने दपछले
एक सेब्याजिरकन 25% बढा दिया। दिर उसे जन अदिररक्त रादश िेनी थी, र्हउसके द्वारा दलए गएऋणकी रादशका
दकिना प्रदिशि है?
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(A)24 (B)32 (C)30 (D) 36 (E)None of these

Amit, Bhanu, Chandu, and Dhoni are four friends. In which Bhanu and Chandu are 
brothers. 360 sweets are divided among them. Amit gets 200/3 % of Bhanu. Bhanu gets 40% 
of Chandu and Chandu gets 75% of Dhoni. Then what is the difference between the 
number of sweets received by brothers and the number of sweets received by others?
अदमि, भानु, चोंिू, औरिननी चार िनस्तहैं। दजसमें भानुऔर चोंिू भाई हैं। 360 दमठाइयन ोंकनआपस
में बाोंर्ा गया है। अदमिकन भानु का 200/3% दमलिा है। भानु कन चोंिू का 40% औरचोंिू कन िननी
का 75% दमलिा है। दिरभाइयन ों द्वारा प्राप्त दमठाईकी सोंख्याऔर िूसरन ों द्वारा प्राप्त दमठाईकी
सोंख्या में क्या अोंिर है?
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(A)42000 (B)47500 (C)37800 (D)40500 (E)None of these

The cost price of an article is Rs. 42000. The shopkeeper offers a discount of 20% on it and 
loses at a rate half of the rate of discount rate. The marked price of the article is
एकर्सु्तकािय मूल्य 42000 रुपये है। िुकानिार इस र्सु्त पर 20% की छूर् िेिा हैऔर छूर् िर
की िर केआिा िर से हादन प्राप्तकरिा है । र्सु्त काअोंदकि मूल्य है
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1200 (B)3000 (C)3600 (D) 2400 (E)None of these

Ramu and Shyamu undertake to do a piece of work for Rs.7200. Ramu alone can do it in 8 
days and Shyamu alone can do it in 12 days. With the help of Raju they finish it in 4 days. 
Then the share of Raju (in Rupees) is -
रामू औरश्यामू एककामकन 7200 रूपये में करने का ठेका लेिे हैं | अकेले रामू इसे 8 दिनन ों में कर
सकिा है।औरश्यामू अकेले इसे 12 दिनन ों में कर सकिा है । राजू की मिि से रे् इसे 4 दिनन ों में
खत्मकर िेिे हैं। िन राजू का दहस्सा (रुपयन ोंमें) है -
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(A)80/243 (B)1/2 (C)8/729 (D)160/729 (E)None of these

A bowler can hit the stump 1 out of 3 balls. If he bowled one over, what is the probability that 
he clean bowled thrice?
एकगेंिबाज के 3 गेंिन ों में से 1 गेंिस्टोंप से र्करा सकिी है। यदि र्ह एकओर्रिें किा है, िन िीन
बारक्लीन बनल्डकरने की प्रादयकिाक्या हनगी?
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